
# ITEM Description Picture Qty

1 GENERAL-P-BUY-KFL08 PILLOW BEARING 4

2 ZAXIs-BELT GT2 BELT L=200MM 4

3 GENERAL-P-BUY-BELT-5M GT2 OPEN LOOP BELT - 5M LENGTH 2

4 GENERAL-P-BUY-BELT-4M GT2 OPEN LOOP BELT - 4M LENGTH 2

5 IDLER-5-20 IDLER; ID=5mm; T=20 4

6 PULLEY-8-50 PULLEY; ID=8mm; T=50 4

7 GENERAL-P-BUY-GT2-20T8B(Runice) PULLEY; ID=8mm; T=20 4

8 EE_SX4164_P2- Optical-Sensor OMRON; EE-SX4164-P2 3

9 MGW9CZ0CM IDEX Y-AXIS BLOCK - SHORT 2

10 MGW9HZ0CM X-Axis Block; XY Block V3 2

11 BLTOUCH 0 1

12 BLTOUCH PIN 0 3

13 MT-2305HS280A29-S NEMA23; L=76mm; X-Axis motors; V4 2
14 MT-2303HS280A28-S NEMA23; L=56mm; Z-Axis motors; V4 2
15 MT-1705HS200A27-S NEMA17; L=60mm; Y-Axis motors; V4 2
16 MT-1703HS168A27-S NEMA17; L=40mm; Extruder motors; V4 2
17 PTFE-6-3-3500 PTFE TUBE, OD:6, ID:3, LENGTH:3500MM 2
18 PTFE-4-3-3000 PTFE TUBE, OD:4, ID:3, LENGTH:3000MM 2
19 PG-4-6 PNEUMATIC CONNECTOR FOR PTFE 2
20 HOTEND-P-MD-0001 Silicone cover for Griffin heat block 4
21 HOTEND-P-CNC-017 GRIFFIN COPPER BLOCK 1
22 HOTEND-P-CNC-016 BMG adapter for BMG-M-MODIX 1
23 HOTEND-P-CNC-013 BMG adapter for BMG-M-MODIX-MIRR 1
24 HOTEND-P-CNC-018 GRIFFIN SUPPORT 1
25 HOTEND-P-CNC-021 HEATSINK 1
26 Printhead LED 0 2
27 PRIMARY-PH-03 IDEX PRIMARY BRACKET 1
28 SECONDARY-PH-03 IDEX SECONDARY BRACKET 1
29 EXT-PRIMARY-02 PRIMERY BLOWER BRACKET 1
30 EXT-SECONDARY-02 0 1
31 HEATER-24-50W 24V; 50W 2
32 PT1000 PT1000 temperature sensor; V4 2
33 404010 FAN HEATSINK FAN; 24V 2
34 5015 FAN BLOWER FAN; 24V 2
35 14264 SE HEATBREAK 2
36 BMG-M-MODIX BONDTECH EXTRUDER; MODIX 1
37 BMG-M-MODIX-MIRR BONDTECH EXTRUDER MIRRORED; MODIX; IDEX 1
38 Bondtech Gear bag BONDTECH GEAR & THUMBSCREW FOR BMG EXTRUDERS 2
39 EXT-KIT-96  BMG Drive Gears IDGA Kit 1
40 CERAMIC_SPACER CERAMIC SPACER FOR GRIFFIN; M3x6x1.5 12
41 M2.5-STANDOFF-L9 M2.5 spacer L9mm 4
42 M2.5X6 HEX no coating block support screw. Silver. No coating 10
43 M3x4 Set Screw Thermistor screw; L=4mm 5
44 M2.5X8 HEX BLACK 10
45 M2.5X6 HEX BLACK 8
46 M3X8 HEX Thread Lock THREADLOCKER BLUE 242 paste 15
47 M3X10 HEX Thread Lock THREADLOCKER BLUE 242 paste 20
48 Spring Shim - M3 OD:6.2mm THK:0.8mm 30
49 M3X6 HEX Thread Lock THREADLOCKER BLUE 242 PASTE 10
50 M3X8 HEX Thread Lock THREADLOCKER BLUE 242 paste 10
51 M3X8 LOW PROFILE Thread Lock BLACK 20
52 M4X8 LOW PROFILE BLACK 10
53 M5X8 HEX BLACK 15
54 M5X12 HEX Thread Lock THREADLOCKER BLUE 242 paste 20
55 M5X8 LOW PROFILE BLACK 30
56 M5X12 LOW PROFILE BLACK 30
57 M5X16 LOW PROFILE BLACK 10
58 M8X16 Button-Head Thread Lock Black with Thread Lock 5
59 M8X20 Button-Head BLACK 5
60 4040 M5 T-Nut 4040 M5 T-Nut 15
61 4040 M3 T-Nut 4040 M3 T-Nut 15
62 2020 M5 T-Nut 2020 M5 T-Nut 15
63 DUET-MINIBLADE-3A Fuse for duet board 3A - Fans 5
64 DUET-MINIBLADE-7.5A Fuse for duet board 7.5A - Drivers 5

GRIFFIN-BRACKETS

BLTOUCH

MODIX-SPARE-ADVANCED

MECHANICAL

MOTORS-V4

PTFE

GRIFFIN

GRIFFIN-ELECTRONICS

BMG

GRIFIN-FASTNERS

Fasteners

DUET


